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Question Number : 1 Question Id : 7150536121 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement relating to ‘Development’
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Options :

Development stops with attainment of physical maturity
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Development includes growth
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Development can be measured accurately
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Question Number : 2 Question Id : 7150536122 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Defense mechanisms are
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Conscious responses that cause anxiety
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Sub - Conscious responses that Increase anxiety
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Unconsclous responses that protect people from anxiety
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Question Number : 3 Question Id : 7150536123 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Heredity transmits these from one generation to the next
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Potentiahties of development
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Question Number : 4 Question Id : 7150536124 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

One of the following 1s a developmental task of early childhood
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Learning to take solid food
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Developing capacity to reason
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Learning basic language skills of reading and writing
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Question Number : 5 Question Id : 7150536125 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

One of the following 1s NOT a process in the cognitive functioning in Piaget's
theory
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Assimilation
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Question Number : 6 Question Id : 7150536126 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

According to Erickson's Psycho-social development. if a child in early

childhood stage 1s not given proper opportunity to develop a sense of

independence. 1t may develop this in the child
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Question Number : 7 Question Id : 7150536127 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Identify the example for ‘Interests’ among the following
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School guidance counselor has administered a battery of test and

suggested Lohit that he can choose medical course as he has innate

abilities
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Maha attends to each and every cricket match that takes place in her
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Mohit 1s on time for any programme as he doean’t like going late
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Question Number : 8 Question Id : 7150536128 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



According to Kohlberg's theory of Moral Development. at what stage are

children self- centered and see their own benefit in doing something
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at the fifth stage in the third level
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Question Number : 9 Question Id : 7150536129 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0



Identify the characteristics of mentally healthy individual among the

following

A} Emotionally mature
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B) Anxious
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D) Worries over failures
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Question Number : 10 Question Id : 7150536130 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



A researcher wanted to study the positive behaviors among children in his
neighbourhood through observation method. The main advantage of using

observation method here 15
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Subjectivity of the observer influences the obzervation
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Question Number : 11 Question Id : 7150536131 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Match the following
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A} Reflex 1. Child understands that birds fly because of wings
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B) Learning 1. Deer running soon after birth
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C) Maturation n1. Girl dressing up like her mother
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D) Imitation 1v. Blinking when anything comes near the eyes
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Question Number : 12 Question Id : 7150536132 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



‘Unconditional positive regard for the client’ is one of the important

characteristics of a counsellor. This 1s stated by
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Question Number : 13 Question Id : 7150536133 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

According to Skinner, to bring about change in the behaviour of the

mdividual, we need to
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Request for the desired behaviour
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Explain about the desired behaviour
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Demonstrate the desired behaviour
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Reward the desired behaviour
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Question Number : 14 Question Id : 7150536134 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A toddler was given size sorting toy. After some attempts knowing the errors
committed. the child successfully stacked the rings in correct order. From
then onwards, the child enjoyed to play with such toys. This 1s an example of
this Law of Learning of Thorndike
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Law of Exercize
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Question Number : 15 Question Id : 7150536135 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The famous story of the crow dropping pebbles in the water pot to bring the

water level up so that 1t can drink is an implication of this theory of learning

&l

il
"\

B Py v:‘-':‘ -l 4 oy oyl A £ at
o8 U @HEeRS, O SHosEtn O ET_“I:I’?,P EuTJMJ&é, F:'ml": Hes0 'ﬂd{%ﬂ i

&
o

2
=l
25

(3]

[

Options :

Trial and Error learning
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Operant conditioning
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Question Number : 16 Question Id : 7150536136 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Jay 18 a young boy from a small town who likes cricket very much and used to
see all the matches on television. Slowly a desire started in him that he
should become a cricketer but there are no coaches and his parents cannot
afford to spend on his coaching. Jay then went to the nearby city. joined some
work and also joined coaching for cricket. He worked very hard to meet his
ends and learn cricket. After vears of hard work, he finally got selected to

play IPL, The motivational eycle in this narrative started at
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Starting of the desire to become cricketer
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Moving to other city
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Joining work and cricket
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Getting selected
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Question Number : 17 Question Id : 7150536137 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Remembering the room number of a Consultant during visit to hospital 1=
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Immediate Memory
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Semantic Memory
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Question Number : 18 Question Id : 7150536138 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the common characteristics of both teaching and learning
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D) Formal and informal
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AB&C only
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A.C & Donly
A, C & Dsrsd

Question Number : 19 Question Id : 7150536139 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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A.C & Donly
A C& Dsrss

Question Number : 20 Question Id : 7150536140 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One among the following hinders the development of children as self learners
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Developing habit of reading
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Too much of control on children’s learning
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Encouraging creativity
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Question Number : 21 Question Id : 7150536141 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Learning takes place effectively in exploration and experimentation and
hence, Bruner has asserted that learning should take place through
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Question Number : 22 Question Id : 7150536142 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Creating lesson plans, assignments and tests well in advance to maintain
smoothness 1n classroom operation. indicates this quality of teacher
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Curiosity
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Question Number : 23 Question Id : 7150536143 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Chandra is a teacher, who at the beginning of the year tells her students
about the rules of her class but when students approach her with any
suggestions to improve the learning environment she readily accepts them.
The leadership style of Chandra
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Demoecratie
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Question Number : 24 Question Id : 7150536144 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The teacher who strives to create a non-threatening classroom is one who
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Provides freedom to the students to express their views
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Observes strict discipline in class room
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Question Number : 25 Question Id : 7150536145 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This Article of the Constitution of India provides the Right to be protected
from any hazardous employment till the age of 14 years
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Question Number : 26 Question Id : 7150536146 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Initially. this state was exempted from the implementation of Right to

Education Aect, 2009
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Question Number : 27 Question Id : 7150536147 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

One of the following CANNOT be an aim of a teacher
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preparing students to behave as responsible citizens
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preparing students to Introspect and grow continuously
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Question Number : 28 Question Id : 7150536148 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement with respect to continupus assessment
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1t improves only teaching process without any change in learning
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it improves learning of students
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1t provides better understanding of students
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Question Number : 29 Question Id : 7150536149 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One of the following 1z NOT a reason for forgetting
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Question Number : 30 Question Id : 7150536150 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The Ravens Progressive Matrices Test consists of these test items
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Geometric Figures
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4 % TEZR
Language I Telugu

Section Id : 715053186
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 22

Number of Questions to be attempted : 22



Section Marks : 30

Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715053306
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Id : 7150536151 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (31 to 35)

Question Label : Comprehension
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Sub questions

Question Number : 31 Question Id : 7150536152 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 7150536153 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 33 Question Id : 7150536154 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id : 7150536155 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
5850 eEpdore BeTASTNS?
Options :
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Question Number : 35 Question Id : 7150536156 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 2
Sub-Section Id : 715053307
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 7150536157 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (36 to 40)

Question Label : Comprehension
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Sub questions

Question Number : 36 Question Id : 7150536158 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 37 Question Id : 7150536159 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 7150536160 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

i~

. # i = # — . R # T - -
Al e T PR e o f o - e T
e O0TR oI €5 IO aloal) ol 5 f.-'c:',.__':'_r_i_:-.l_,-":_-"i' }

-
Lel L

; ¥,
2l
paiL

Question Number : 39 Question Id : 7150536161 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 7150536162 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 3
Sub-Section Id : 715053308
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 41 Question Id : 7150536163 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 7150536164 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 7150536165 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 7150536166 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 45 Question Id : 7150536167 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

‘oo’ B3 STl elo
Options :
1 % e
5|:-'|J-
2. % v
3 DB
(] ;(50
4, %

Question Number : 46 Question Id : 7150536168 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 7150536169 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 7150536170 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 7150536171 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 7150536172 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 7150536173 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

¥,
o

.
ol i =
SolS Hok vIb.

[

Options :



Question Number : 52 Question Id : 7150536174 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 7150536175 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 7150536176 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 7150536177 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 7150536178 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 7150536179 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 7150536180 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Question Number : 59 Question Id : 7150536181 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 7150536182 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Language II English
Section Id : 715053187
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 26
Number of Questions to be attempted : 26
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715053309
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Id : 7150536183 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (61 to 65)
Question Label : Comprehension

Read the following passage and answer the questions from 61-65. Choose the correct

option for each question.

In Kabadd:. two teams of seven members each face each other in a flat rectangular
court, divided by a midline. The game 1s usually played in two halves with a halftime break
in between. After the break. the teams exchange their sides in the court. To play the game.
cach team sends ‘raiders’ across the midline to the other team. The raider tries to ‘tag’ the
opponents and run back to his side. all i one breath. To show that he hasn’t inhaled again, he
has to chant ‘Kabaddi-Kabaddi® all the time. If he has to mhale again, he 1s ‘out’. The
opponents try to catch the raider and stop him going back to his half till he loses his breath.
and has to inhale agai. If the raider manages to go back successfully. all the persons he has
tagged and all those who have touched him are declared ‘out.” For each player declared out.
the opposite team scores a point. If all the seven players in a team are ‘out’. the opposite team

gets bonus ponts. The team with the maximum points wins the match.

The game of Kabaddi requires good health. muscular strength. strategic skills. a lot of

practice and above all, great determination. Indian girls and boys have always excelled at

Kabadd:.

Sub questions

Question Number : 61 Question Id : 7150536184 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
According to the passage. which of the following statement 1s INCORRECT?

Options :

After the break. the teams exchange their sides in the court.
1. %



In Kabaddi. two teams of seven members each face each other.

The game is usually played in two halves with a halftime break in between.

4 The team in which all seven players are 'out' will receive bonus points.

Question Number : 62 Question Id : 7150536185 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The word ‘determination” means
Options:

reluctance
e

5 % hesitation

commitment

dislike

Question Number : 63 Question Id : 7150536186 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The opponents try to catch the raider to
Options :
stop him going back to his half till he loses his breath

1.+

5 % Stop him to retain into their team to play on their behalf.

3 % send him back to his half before he loses his breath

4 % send him out of the entire game.

Question Number : 64 Question Id : 7150536187 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Based on the passage, which country has always performed greatly at Kabaddi?
Options :

Australia

Pakistan

3 % Bangladesh

India



Question Number : 65 Question Id : 7150536188 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Find out the word from the passage which 1s opposite to “exhale.”
Options :

1 % cXcavatc

5 % mnsipid

3 @ mhale

4 % exhume

Sub-Section Number : 2
Sub-Section Id : 715053310
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 66 Question Id : 7150536189 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The voyage with spiritual purpose is called
Options :

excursion



expedition
2. % 5

trip

4 pilgrimage

Question Number : 67 Question Id : 7150536190 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Identify the part that contains an error in the sentence,

The shopkeeper placed an old chair under the middle of the shop.

A B C D

Options :

A

1. %

Question Number : 68 Question Id : 7150536191 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
Students are stressed because of their exams. They should have a session with

Options:

Physiotherapist
1. %

5 % Psychiatrist

Psychologist
3. %

4 % Paediatrician

Question Number : 69 Question Id : 7150536192 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
‘T feel like T am on cloud nine.’

Pick the meaning of the idiom ‘on cloud nmine’.

Options :

Severe mental or physical pain or suffering,
1. %

An unpleasant sensation caused by physical illness or injury.

A long and severe recession in an economy or market.
3 %



4 A feeling of great pleasure and happiness.

Question Number : 70 Question Id : 7150536193 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Rama has of rupees but still she peace.

Choose the correct option to complete the sentence.
Options :

lacks. lakhs

1. %

lakhs. lacks
g

lakhs. locks

4 % locks, lacks

Question Number : 71 Question Id : 7150536194 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Pick the wrongly spelt word.

Options :

jubilation
1. %



animasion

gratification

elevation

Question Number : 72 Question Id : 7150536195 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

He blamed their electoral rout on the party MLAs’ neglect of their constituencies.

Choose the opposite meaning of the word ‘neglect’
Options :

1 % relax

> attention

3 % laxity

4. % oversight

Question Number : 73 Question Id : 7150536196 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The children were very well

Choose the correct option to complete the sentence.
Options :
bring in

gave up

brought out

brought up

Question Number : 74 Question Id : 7150536197 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Listen! Somebody at the door.

Choose the correct option to complete the sentence.
Options:
1« 1isknocking
knocks

o 18 knocks

4 % was knock



Question Number : 75 Question Id : 7150536198 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Arrange the following in order to form a meaningful sentence.
A) The mtellectuals of India
B) i the development
C) of our country

D) have played a crucial role
Options:

«  BEBDLE

A DB C

5 %« AD.CB

A BCD

Question Number : 76 Question Id : 7150536199 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Most of his was spent working n agriculture research.
Fill in the blank with the appropriate word.

Options:

carcer
1.4



courtier

carrier

courier

Question Number : 77 Question Id : 7150536200 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Pick the correct sentence.

Options :

| This 1is the book that everyone is talking about.

5> % Raghav cooking likes and loves eating.

Sam 1s my friend close.

The time on arrived flight.

Question Number : 78 Question Id : 7150536201 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



I’ve never thought about 1t

Fill in the blank with the approprate option.

Options :

so that

because

though

4 before

Question Number : 79 Question Id : 7150536202 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The of the hour was some fast action on the part of the doctors.
Fill in the blank with the correct option.
Options :
needing

need

. needs
3 %

4 % needed



Question Number : 80 Question Id : 7150536203 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Rani said. ‘I am a teacher.’

Select the sentence in indirect speech.

Options :

1 % Fani said that I am a teacher.

5 % Rani saying that her was a teacher.

3 ¢ Rani said that she was a teacher.

Rani saying that she was a teacher.
4. %

Question Number : 81 Question Id : 7150536204 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

my favourite book 1s swanu and friends what 1s yours

Choose the correctly punctuated sentence.

Options:

1 My tavourite book 1s Swami and Friends. What is yours?



My tfavourite book is Swami and Friends What 1s yours.

-

My favourite Book 1s Swami and Friends.What 1s yours?
3. %

My favourite book 1s Swami and Friends. what 1s yours!

Question Number : 82 Question Id : 7150536205 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

A room 1n a public building where outdoor clothes or luggage may be left.
Options :

Clockroom

5 Cloakroom

Lockroom

Closeroom

Question Number : 83 Question Id : 7150536206 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The stone came rolling the hall.

Fill in the blank with the correct option.

Options :
1 % with

about
2 %®

mnto
3. %

down
4, &

Question Number : 84 Question Id : 7150536207 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Identify the word used both for singular and plural form.
Options :

1. % cat

goat

sheep

dog



Question Number : 85 Question Id : 7150536208 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The following theme suits best to primary level students
Options :

Science and Technology
1. %

The world-India’s neighbourhood

Art and Culture

Self. family, home. friends and pets
4.

Question Number : 86 Question Id : 7150536209 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

‘Passive vocabulary’ refers to the words that learners
Options :

understand but use in speaking only.

understand and use in real life contexts.



understand but don’t use regularly.

understand and use frequently,

Question Number : 87 Question Id : 7150536210 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The knowledge and skills you want students to acquire by the end of the course or

after completing a particular unit or assignment are called
Options :

1 % Learning Skills.

Learning Curves.

Learning Modules.

Learning Outcomes.
4.9 g

Question Number : 88 Question Id : 7150536211 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Diary entry

Options :



Diary entry
1.4

2 % Debate

Role play

Group discussion

Question Number : 89 Question Id : 7150536212 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Continuous and Comprehensive Evaluation (CCE) 1s a

Options :

school-based evaluation.
1. ¢
state-based evaluation.

board-based evaluation.

region-based evaluation.



Question Number : 90 Question Id : 7150536213 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

“Have you completed your homework?”. This 1s a/an
Options:

Reflective question

1. %

Multiple choice question
2. %

Open ended question
3. %
4 Close-ended question

Mathematics

SectionId : 715053188
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Maximum Instruction Time: 0



Sub-Section Number : 1

Sub-Section Id : 715053311
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 91 Question Id : 7150536214 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
If (x+y) =8and xy = 7, then the value of (x — y] 1s:

(x +y) = 858am xy = 7 wond, (x — y) G
Options :

1% 48

Question Number : 92 Question Id : 7150536215 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The difference between the number 9673 and the number formed by changing
the place of 7 into thousands place and 9 into tens place of 9673 1s:
Rog; 9673 $8ctn 96736 Too ae PHod™S 80k 97 Hihe F;%r@ sirdyto T

o \_? L:-u n_O-:;_ o0 :ulJL.J c_,,\'.,-'lO



Options :

| x 2022

, » 1980

2020

1920

Question Number : 93 Question Id : 7150536216 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following number 1s divisible by 9?
Sob sr8S” 98 grAodat Hogy A6 ?

Options :

65051

el
L
D
ey
[#s]

3. v 27801

10401



Question Number : 94 Question Id : 7150536217 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The number of mmutes in 10 days 15 equal to number of seconds in how many

hours?

Options :

1.¢ 4

Question Number : 95 Question Id : 7150536218 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A farmer has sheep and cows in the ratio 7:5. If he has 120 cows, then the
number of sheep he has 1s:

; ;
W N WL T, Oy o TR T R S el WY £ Y o pan A Bt pE Ty oF s
2.8 0&H 7:5 VS A 0o s0B0ID sen daryom. 9805 120 ehen todl, 08 58
2 = \ :

Options :

| v 168



120

144

192

Question Number : 96 Question Id : 7150536219 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The number of lines of symmetry 1n a square 1s:

2.8 Sedpiod ) ?“-;Fj Ope Hogy:
Options:
1.% 2
2. % 2
3. .
1
4. =

Question Number : 97 Question Id : 7150536220 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

The LCM of even prime number and least positive composite number is:

ad T o ELn Loyl adad ad S ENEY Y ¥ . S ¥ iy
7 SOt S & = ) IO - I c
e [o)TPR 008 Exalalen sy Sodal DF} u:\,':l'i_,:.:j O8I 5.ar.d0.:

Question Number : 98 Question Id : 7150536221 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In AABC. AB = BC and #B = 70". Then. 2A =
AABC &%, AB = BC 26650 2B = 70" wona, £A =

Options :

80°



4w 45

Question Number : 99 Question Id : 7150536222 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Value of v225 x 371 is:
V225 X 371 ¥ Dend:

Options :

1_@5
45
2. %
3. % 15
5
4,

Question Number : 100 Question Id : 7150536223 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If 5t November 2023 is Sunday. what will be the day on 5 November 2024?

£ o N = i A __H_'." P _L: — Foo R 2 L \ T
Gaoab 3, 2023 arth shardo e@onad, moond 3, 2024 30t o aelo o506 7

Options :



Saturday

Hi:lele

i,

Monday

Tuesday

Sotaeto

Sunday

LTarytele

4, #

Question Number : 101 Question Id : 7150536224 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the cost of a dozen apples 1s 730, then the cost of 9 apples 1s:
2.5 ¥eah udde 55 780 wona, 9 shde 55

Options :

7100

1. %

760

740



750

Question Number : 102 Question Id : 7150536225 Question Type : MCQ Option Shuffling :

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

: : = : W :
The area of a rectangular field 1s 1350sq.m. and its length is 15 times its

breadth. The perimeter (in m. ) of this rectangular field is:

5 5 . - 2
R s e A MAea. =3 S 28 = . DB AN T ot s e Ty o nea |l e
Q'\f‘:‘:ﬁat"i.-'?'ﬁ E‘L@O Cll3s) addPero l._'r:flo 2.6k, 30841 e & G300 TPed ol i3 0050

Options:

90

1. %

120

ol

Yes

Question Number : 103 Question Id : 7150536226 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Archana drinks 500ml of juice every day. Thus. the juice she drinks in a week

(in lltlE‘;] 18 :

!

ofw @86% 500 2 2.9 Dot 8o @ib@od. & dore, @

, % 350.00

(Y]
5_-'I
=
]

(%]
L]
e
]

Question Number : 104 Question Id : 7150536227 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The median of first 9 composite numbers 1s:

R O o B L W A
S0t 9 Hodins Hogre HR-do:

Options :

9.5
1. %



1155

11

Question Number : 105 Question Id : 7150536228 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

=1 | b
|
| =

Options:

=] | =

[

Question Number : 106 Question Id : 7150536229 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Ashok is 8 years older than Raju. Raju is 48 months vounger than Vijay. If

Vijay’'s age iz taken as ‘X, then age of Ashok (in years) 1s:

=

r_-*':ng e T i M ¢ T = TR e~ L e el e T =
05°5 Trer Bo&) § Hoddoren R, destd ol Trr 48 Jeen DRER. el
J & :

fu

Load & )
dhcioy X' e ¢

a

Options :

8—(x+4)
1. %

. 8+ (x—4)

, x 8+(x—148)

4 % (x +48)

Question Number : 107 Question Id : 7150536230 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2401 - 414198 =

Options:



]
le
]
]

Question Number : 108 Question Id : 7150536231 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
If the length of a train 1z 250 meters and it crosses a pole in 10 seconds, then

the speed of the train (in km /hr) is:

n - o —_ oy o f

VSN O L = Dypled B MR et o B A S N £ . &
2503. SRS, 2.5 Oen 10 RBIE° sPo orédd, @ Jen oo (Sab/No.8 ):
e L o % )

Options :

60

1. %

e |
L

Question Number : 109 Question Id : 7150536232 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The number of edges in a tetrahedron are:

el LN e &
TR |8 VHETE by
J° o PG eE) od SN0 308

Options :



1.4

2. % .
3 % 12
4, = *

Question Number : 110 Question Id : 7150536233 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The total number of factors of the number 196 1s:

AP R - 2 & B e
2og; 196 Ging; dndo lePosee Dogy:

Options :

6

16



Question Number : 111 Question Id : 7150536234 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement 1s NOT correct regarding Perimeter and

Areas?

Options :

The perimeter of a regular polygon 1z equal to the product of the

number of its sides and the lengths of the sides.

555 @b Gng) Hepfed R Phere Sog; HHBCH Pare SPEHL ©ROSH
R8N0
1. %
The amount of surface enclosed by a closed figure 1s called 1ts perimeter.
2.8 HodhE Héro e 5268 65088 Jnagrd)) PR HénSed wotrh.
2. i
The area of a aquare 1z more than the area of any other rectangle
having the same perimeter.
S@dEio g, gerego, Hird DEnSod SOAS D0 BEY BUSRTH v
S08) w8,
3. %
Perimeter of a regular hexagon = 6 x length of any side
B 5@ e S8 = 6 x Bxr gheso EPE
4, %

Question Number : 112 Question Id : 7150536235 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A rainfall of 0.448cm was recorded in 14 hours. the average amount of rain
per hour (in em ) 1s:
14 fote® 0.448 Ro.80. Hardo $a3r008. wong, Hobd Hiftn Sdardo

B =" _ =21

(Do.20.06):
Options :

1 ¢ 0.032

Question Number : 113 Question Id : 7150536236 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

On subtracting 5a* — 4ab + 8b? from 5a* — 8ab — 4b?, we get:

5a* — 8ab — 4b® ol 5a® — 4ab + 8b* D) &HID, T, Dendd:

i

13

T

Options:

10a® — 12ab + 4b?
‘|. 4



5a’ — 4ab — 2b?

—4ab — 12b*
3. %

4% 5a® — 8ab + 4b?

Question Number : 114 Question Id : 7150536237 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Pictorial representation of data using symbols 1s known as:

i B
L A e L T 4 = (R ¥ s S N P i D e Y e
al O fSoN GadrAod derodo GNE) ER&ATRL, S otPaD:

—=o & B o

@

Options :

Bar graph

T A TR
¥, Oge |0

=
1. %
Pictograph
aéT@Eeen
2. %
Histogram

L 1 Fl Fn [,
sPari Oge Do



Pie chart

o
B

Question Number : 115 Question Id : 7150536238 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the aspect/s which reflect/s the intellectual attributes of the Nature

of Mathematics among the following:

bt

; 0 of Fes o g g Tt N L S S - o ot s L R,
Sob d&” Heds o OinE) 0D efered Hélolod wodo /e Hotol:
o 2

A)  Number Concept
S[eEig sty
B) Rational thought

i o
af:'@.a@h?_ua TSR
g e

C) Concept of Geometrical Shapes

1
4
e
4
Ty
a5
e

) BT §P8
D) Problem solving skills
rfT‘c“.,..tv nﬁﬁ‘\"h-‘j n,n.L.ET £

ChO{}uE the correct answer.

— —v-r ey T et ﬂ. .
R0 e wonE ol

Options :

A only

AsrEaD

B only

v s
o0 |85 el
s



3. %

4.+

Question Number : 116 Question Id : 7150536239 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

A & B only
A& Bsrss

B & D only
B & D s5rEah

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The statement that reflects the cultural value of Mathematies of the following

o

Q Pl BV SN T e, S0 - N . Y S PR N S
Eof arBd” eiio ¢ Hé PO 8 DendeD [0e9BI0EIOT o7 Eg ;

3.¥

4. %

z .-'

a v, faga) -
s o) | ::f:*“-U', ed” ABE raNe andrho

Usze of inductive and deductive reasoning to prove the mathematical

statements

A u " f=4 i - > > & - 2
OV A7 e e Ve N IR - AL R, S w = = L ma
.D;{:-.l&r\s”._;w_; ABEFE0DTERE eishsa, AftenS '-"_?'E"E"r-:!"gf\u o

s

Exploring the history of the Mathematics

380 %) SBED edhosko



Quest for truth and intellectual honesty

Question Number : 117 Question Id : 7150536240 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If a learner tries to solve the problem in a different method rather than the
method taught in the classroom. then this act falls under the following

Instructional objective:

o RV R Nt ‘o mh o A e b sl Lo o oh g L
2.8 oD 8018 HH8 £003 HPES sHor I6°E W8S Ddd
= Q Q
o o
GRS e G i o i e S s
GJDG\.’{_UO?‘::IGEP_'S l‘u_:-,'dj!,'t_gc“‘_-:\:‘_.. Byl @ ,u:-.:dl"i"-lc‘;_f:] & S0 Eié{iﬁ Sobim Hanod

Options :

Knowledge

Espbate)
S

Application

EY Ty ST 8
e latle

Understanding

I bl .
s
e PelP )

3. %



Question Number : 118 Question Id : 7150536241 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The formula of an area of the rectangle is derived by exploring its relationship
between the area and 1ts dimensions 1e. length and breadth by studying
rectangles with different dimensions, then the method of teaching adopted 1s
said to be:

S8R dere; drEed) tEn 80558, PR Serero Hbdn BPode i donomrd

SR e Yoyl madad WL Ot Sl P et D e af ant Doafa df
®Jra085to TP @of) a8 SPED) Hbd e Foded” AiSRdras af:dbio
ol e

ok
i

o 4
I

) L g Ty --5_'. "4 af A O Y o 4 =
. 800 @R00UN GO 2OE BeP Bl
n
5
Options:

Inductive

i

o
97308

d O i

Deductive

Analytic

o
ik

ad
S

a

3.%

Syvnthetic

wh Tt
e O ol BG
Ay

Question Number : 119 Question Id : 7150536242 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



A student of class VI 15 asked to represent the value 10.5 through a number
line to assess his/her knowledge on the concept of decimal fractions, then this

question falls under the following academic standard:
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As per the Herbartian steps of a lesson plan, if a teacher connects the concepts
that are to be taught with the pre-concepts the learner has, then this step 1s

known as:
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The mineral present in bones and teeth
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The doctor who treats the dizorders and diseases of the eves 13 known as
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Night blindness 1s caused due to deficiency of this vitamin in our food
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Vitamin A
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Which one of the following is viviparous animal?
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Humans. animals and plants live in this layer of Earth’s atmosphere
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In case of sun stroke, we should give this to the patient after the body regains
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Body builders require to make more muscles and body masa. For this purpose,

they need to take a diet which 1s rich in

, i i . pr
T s S T L T s
L -':-‘ [0 T 5,@-:,4;; DB aRe), oD eenEad Lo hod ol

Py r r £ i -
ol Do Bomren dbat) SA3
=L

U&

Options :

Proteins

1 ¢ i@*ﬁ% Elﬁ:l

Vitamins

[ T
LA

Minerals

PeoeIeen

4. %

Question Number : 128 Question Id : 7150536251 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The main root of the plant is called as
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The percentage of water in the human body’s weight
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Question Number : 130 Question Id : 7150536253 Question Type : MCQ Option Shuffling : Yes
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Among the following. identify the Hydroelectric power station located in

Telangana
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Identify the contagious disease that spread during floods
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Which juice DOES NOT contain enzymes?
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Gastric juice
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Bile juice
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The relationship between the distance on a map and the actual distance on the

Earth 1s called the
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The Deccan plateau has a high and steep edge (scarp) on the west. This 1s

known as the
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The God reprezented in Elephanta Caves sculpture 1s
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Gautam Buddha delivered his first sermon at
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The most extensively used metal in Indus Valley Civilization was
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Ruins of Vijayanagar empire can be seen at
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‘Bhoodan Movement' was started by
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73 Constitution Amendment Act came into force in the vear
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1992

1993

1991

1994
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The following river is NOT flowing in Telangana
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Bharatpur bird sanctuary i1s located m this state
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Correct Marks : 1 Wrong Marks : 0

In Hyderabad, ‘Sadar festival'is celebrated annually along with this festival
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Among the following crops, the highest-producing crop in Telangana 1s
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As per the National Curriculum Framework-2005, the number of themes

formulated in EVS for classes 3, 4 and 5
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One of the advantages of process approach to children among the following 1s
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This method helps the children to become researchers.
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In formative assessment, the weightage of the item “children’s participation

and reflection” at primary level in Telangana state
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What are the main academic standards to be achieved by teaching social

studies at elementary level.
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A) Conceptual under standing
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B) Mapping skills
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C) Reflection on contemporary issues and questioning
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The following step of the lesson/unit plan shall reflect the teacher's
preparation beyond textbook for effective teaching learning process.
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National Education Policy — 1986, suggested the following core — elements to
include in the development of social studies curriculum at school level.
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A) Environmental protection
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B) Concept of small family norm
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C) Development of scientific approach
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